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Problem number (1) (20 Marks)

1. For the circuit shown in this Figure:

(a) Calculate the source current Ir.
(b) Find the branch currents I; and L.
(c) Find the voltage drop V;,V,, V3, V4 and Vpc.
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2. For the circuit shown in the Figure, find:
(@) V1,Vy I, I, L.

(b) Draw impedance diagram.
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Question No.1: (50 points)

At a certain site road cross canal, the water way and the road sections are
showing in the figures:

7.0 m

| Cross section of the road |

It is required to construct double vents Regulator with remforced concrete
slab bridge with the following:

e Reinforced concrete slab 8.0m road breadth and two sidewalks 1.0 m
every one.

e All retaining walls are from plain concrete 0.7m thickness at the top.

e Upstream retaining walls are box type and sloping types at downstream.

e Pier is 1.0m thickness and single upstream groove (0.3 m x0.3 m)

Draw to scale 1:100 the following;:

1. Complete Plan Half Earth Removed ( 25 points)
2. Sec elevation (10 points)
3. Sec side view A-B-C-D (15 points)
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Question No.2: (20 points)

The following figure shows the center line of steel truss. The all members are 2Ls
120*120*10 mm and the pitch 100 mm and all gusset plates 12mm. The truss dimensions
in meters. Draw to scale 1:10 the full truss.
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6*1.0m=6m

Question No.3: (50 points)
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Systematic arrangement of calculations and clear drawing are essential. Any data not given is to be assumed
Answer as many questions as you can - Answer as brief as possible. Ofimdiay acbwl 1 e sS oYl

QI) For the shown beam, draw the Influence Lines for (12 marks)

Reactions Ya, Ma, Yb and Yc
Qn, Mn , Mk, Ms.
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Q2) For the shown frame, draw the Influence Lines for Ya, Yb , Yc ,Ma, Qn, Mn. (9 marks)
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Q3) For the shown frame, draw the Influence Lines for Ya, Yb, Xb and Yc (15 marks)
as well as Nn, Qn, Mn, Ns, Qs and Ms.
It
C d Ill SI b
L - — O | | J// AF
45°
<t <t
a

A Ak




TANTA UNIVERSITY
FACULTY OF ENGINEERING

DEPARTEMENT OF STRUCTURAL ENGINEERING
EXAMINATION OF FIRST YEAR STUDENTS OF CIVIL ENGINEERING

Q4) For the shown truss draw the Influence Lines of the forces in the marked members
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Q5) The shown block has specific gravity =2.5t/ m3
1- Draw the normal stress distribution at section B-B
2- Find the maximum value of the horizontal force H
such that no tension stress occurs at Secetion B-B. 15,30t
3- Calculate and draw the core of sec B-B o
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Q6) For the shown sections, scketch the normal stress distributions for the three cases
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Answer All The Following Questions

QUESTION NUMBER 1 ( 50 MARKS)

1 if |x|]<1
0 if 1 <|x|<2
and then find its corresponding Fourier series.

i) Plot the function f(x) = { where f(x+4) = f(x)

ii) Find the inverse Laplace transform for F(s) =s+ Ln(1+ %).

iii) Solve the following L.V.P using Laplace Transform,

y"' + 4y = sint u(t — 2n), y(0)=1, y'(0)=0.
iv) Solve the following integral equation using Laplace Transform,

t A
ft)+2 f f(u)cos(t —u)du = 4e~t + sint
0
v) Solve the following linear system using Laplace Transform,

yi= 10y, +4y;, ¥y, = 4y1—4y,
yield to the initial conditions y,(0) = 0, y3(0) =1, y,(0) =0, and y,(0)=—1.

QUESTION NUMBER (2) (50 MARKS)

2
a) Find the general solution of the PDE: aax_auy =0

B) Solve Uy + U, =4x7+21t2,

¢) Solve the system: X' = (g _41) X.

. v — 2 —1 et
d) Solve the nonhomogeneous system: X' = (3 _2) X+ ( ; )

e) If A =2 isatriple root of the characteristic equation for the system
1 -2 2
X = (—2 1 —2) X,  then find the general solution of it.
2 -2 1

Sl the Fest
G Examination Gonemtttos and Gocrdinat

Dr. En_,. : Mokemed: ﬂﬁor[m.y and Dr. Febdullak Fehbas




179

P IO nee |2 s (R 87 o C (e

CT-IT o [y e =7 <Csy e (KO € oo prmao

CTng e Py =17 (R0 09 10 e Firso Smsp

[ 268 o |t Fy n0 Ay oo oy uonisodwosa(q

0T ooy {9 o € S0 (7 =5y (o &4 e

61-Tsey oo o e (K Corfy of o) 6y ey

81-1% ¥ (e vy (£ o0 |0 560 ol o 02 15RO (157 € € e

L1 €22 570 w0 o ST Cipe e (o #7 £ Fy o0 el Camed s <viedy v

9I-~céro e e (|0 1€ o A 3 (e v <D (o ey (IS0 .

ST-eom D 1RO RSP 1T AP 1% (=t =g ipe v (K€ ke €I D (oicfe 1 ey

P 1-€ (w2 om0 [ CI0 30 H 5™ D 989§ 1[[BOISJA] PIPIPOIN (p87 free? (1 O Oy

E1-0Co ey = (=S e £ (A FECe 0P e sty

cl- jﬁfﬂ?@ﬂaaa_?_wagawnwﬁ_qu@jﬁ%_ﬂ_}aﬁﬁ_3.43_.

L= pf s ety (i) Co QICRCP (i ey

0112 ey (¥ 6y tom o (RO e i (1750 ,

6= &1 S ety 001% P00 oty i 001%

8 e o P Ty o F0 oy e 0 e O 802 40 (ST 0)
(9z01)
=S ie1 510 21 S0 s 01 5%/ 70T (RSTSIP e RO (e S o <y v

L 35_134;44391N%%u}4%340244«1&3,4}4_1.@%}3

9- iy 1|2 My D PR P P

S FCD pF = e S (S 0 v

o Oy ¥y £ o << iy

€ miy (s e o0 (€ Ry 0 T o e sy e (e +O (fsoe
Sty =0 | Ry S s ey

¢ e ¢ T IR I S 6 ostie micy (s 6 e ey #0 <=9 e AA ¢
‘e’

[ € ISUIDe omsfC i 02 morsdy §0 G-06 ST 01| Croe =1 o (e (o0 P

1

|

09
£o FFF0 Cay 0 ¢ 0 € .

C 8l 10 2961 <SSl
20 0" € (o 510 ™ (erey IvTIme 0190 90 bR pRCersS o

" e (S AP O 1D i T e meth 100°0 /ey’ ey oD (e ¢ e

98] TPE & 90T g 207 ¢ ¢ GO <¢mo¢

T Sy o0 e~ snerh ity T SORE =i (0e 01% SO soety (rer 9°8 1 SO0
" 0€£°'89%' = 1% 2 90L%

ﬁjf Iy ST% 0 P~ 9 P [y Ff S 4
- @ 0 600 Sty o iy €07 Sy i 008 2 G0 1697 (h 97 Sy (09 ST Fry

P STCS) s AR ST (8 RS T e gy o (AT P

T < v\ o

0S-Fy ov? e (e fnloy o7 v oy ot
¥ <D <o D By
b it oo eimm o0 (e _34_%_W,%wqjjq?mqwom}ajdi}ﬂ%%ﬁﬂjﬁ«
8~ (1 & o AR w0 £ e (o D (e
LSOO (o2 P e e oo (Lt € (KT oo pey (e [ (K
Ob- e €y o %t 7 ey (e .
St ofe R 050 2 19 mep R0 veysty e (o
P 1pfe sy @ e ) o5F o g i (st O
€7 =y (0 0 v S0 (O PP S ¥y 17 e )
C~ e pfe (R (5T o0 e e (ery Cpfsise iy
L0 i€ 1 ey (et 0 RCD (Y i eSBUldS 10H §meme (16 io)saforewn
0= o Fomp repifey oy sy (1 Ty oy € Py 70 q%u«a,?ﬂ,}%quqﬁﬁﬁ
6€- 30 STl (KA [0 e ey
BE- P 380 e 0 e (o

LE STy IR0 0 P oD ¥ e o7 F oy 0 S
9C-pevt € oy 9 (65 T (e () frerehy s (6

= :.nﬂv RIS a:.lw1,|,a.}lmynfow]4.l mmﬂw&}aﬁliw 1¢%ﬂ|m»,
== H




/
7 —
==
S == == =
R B . 7 .
o = = 3 A 7 —~
S —
- N =

adly Gulliie [ ¢S ol e O B G pay <17
sl aldl o A kil ~ Iy peadll s jall o Ay padl ddlal

. 5l da gl aillad w15

2sa g Sle Gl o S el saaie 4 yila Joshed A o Aday a4 ) i) da glad IS 13-4

G laa i Y o, gy .z duna o T
+ Sl daghad s Al M ALl () oS5 4y S Ay jall 8 dadaiiall & jlasiy) Alla 820

G laa (5 Y T2 Ax e g Byie G al |
e 53S0 gl )55 (o (S A S Ay 3 (38 ,0l) Yl sl gn CagSIN2

saclie dygban JSE1 0 T8 slate Ay glan IS 7 dadalite Ay gliay JSAT G Adlaie 4 sbiay S

-

sl A ;Y18 il S (e 9699 Lo (S ) 8 piall At N jualiall (g gin3 -2
G Lo aren 2 psstdll # oS o | Saiaiall
¥ ogiall e il jall ey -2
rw..r... s GLH Y oA r&.ﬁg# Mbuﬁbb z Slalaill M.rt,bmb = Sl mumprn ,.

=

“LV...D: Lb&r%: rmp.%rm..& rVCL, Oa-24
gl auall g ad o JLll jaall g 2i 2 Saall paad o Sall pa s
aaally aliall g iy gall Jal gall | AilaS L Syl
sty WLl (e A e Apae 6l 4y Ul sdall (g 4in3-05
%40 e Jil 2 52 S %40 o= .z %66 ' %52 0o .= %66 e SI
; dpadall LUl ) siuall e Glile e -20
e rpﬁwb.v A . gaall .z Cul el @ il yall i
g gal) d Ul ) sdall Al JSEYT aal (1027

6l4

Ja bl o
el G el adiag- [0
B la a2 Sl yhass olaall Alalal dulal) o -0 A3l Jalaa i

Opma Jaia il s Aall (e die plaadl o 53U Slea Yl e (. ) clalgay daall Jaaisgdcapai-] ]
Blasy galal

Uadll -2 sz Lzl -0 E%AN

JWE) el jaY dxilall @l sy e Brazlian test bl "l JWERYY pie - |2
uadll -2 r.,mb.& z Jrall o a3l i

i LEV_ ofb.V/nN PPl r;LE/ﬁ O test AC..GHVL_ C._._b_v QEM— DL X i
odll -2 rsmb.& & .FP.L_ - 23

e Al (B land) (n L s g A Y1 Sl ol 1
G Lo e -2 Lol daldll r ol il Aihin (el il dikaia |

L

198 B )has -&uaall cLall bm .mbflb.: olaall -1 5
»rwmt.fﬁ.mb..vp lecu_ﬂ Dgaall cus i@ LSl @ el e i

D Cuaig s 20 )yl caal IS 5 e 150 = (ke b Ofida (8 ) seanall 83550 Aakall dlan YIS 13116
& sinaally i) U8 Gl (g ginadl) (5 (5 s g sl (g sinndl) s GUAN 05 Cum 53 250 (5 s eBll 3 530
il U ) Calia die (5 5ia g sl (g gl O 3,0l 5 s 1,75 = Ailusall 38 die Canidl) U (g yia gl

o292 Al 40 Jare o 5Sh 4l / 30 1 G patll Jaze O Caale 131 ¢ jie 5 = andl
b GBa s 0.056 .z 0.001 .« . 1.8

6/3



B laa i Y 0

asaullSH g €

G laa g Y 0

|
|
I

: atlyya b e Pia S o (el il 3l 0

20002 00 sial 7 20 0.002 e ial l‘-v 0 0.002 (e Sl

|
i on el oa B g puadl aall -2

popitladl Qlin g 7 apmieldlclin € L 4 palldlicliy <

sl Lol paall ia yai Aol saia Jaua s ey 3851 -39
.J:)m.]na.aa 2 O:\.J;IJAZSJ‘J}JM 4_| L:\‘.:\A:IS(}A‘JC- \

"

»
,
|
|

el L LlaY) Al S B caal ) (a3 10) GEN sl

(1) it 2ie yelsy Leady Lial Cliall 25000 01 py Ualoiies Lpans )y a3 JS3IL daia gl 4y )
(o8) 31 (=l) 1 5 Akl Jae Hlade S 13 i 100 WSass Glayll salall (e &l Jaual) el

(sl dlay A0 s ge ga LS aladYl
LAl jedae an ) ]
(o= 03) @l el a2

(o= ua) el el a3

aa"l;— . '["j ":E .r/:&ﬁh

g plailly Gluiad) ]




|
|
|
|
|
.
|

4ol sds o il ac 4utiS Dy lede £ piaa***

\

I

|

i

F I
"‘-,,.wA‘— W-TN"N:

|

v
/ B "ﬂ""”\“‘ ~\ N
4 Pl \\ ‘ —
rd ,’ - LA e tading
'd - \
/7 /’ -"‘ :
7 i = - \ R il .
/7 .w‘”-_'“ ”‘m" i ‘.‘ ;L‘N\
/ o P \‘*, - ~
s 3 .// " —

i
o |
|
!
|



(Al Clanall) Lilan g gl il anall g Gl ) daia + salall Uaik daaly — duaigh) 40

(LSSl clanall ) 4300 35 1 alind) ALy e Aol ¢ 4 i

(chualy dobu £ 5ad) 1) clelu 3 1 LIS Glaia) o 2019-2018 (Al puad sl el laia)
2019 - 6 - 16 : G MEP1261 ; 54balf 458

(Sl Ll s ) andital ) LAY A oo

=1 JsY) gt
?u@%gauxs)mJssi(ﬁ?d)m,w}msUsywx@aﬁy\@sua,m?u);&cﬁj (!
Toe NS e (w

af.‘s,-.‘]_’,)éﬂﬁj’ QL}“J&L&.}J&- 4.)5\&‘3;}” 3_).\5.“- k_ﬁ.gs.\.“- @A;_x“ belesl) -

fomid Alla 8 oS08 ol s I s L) (2

- (A el
Al Blall 3 Al gl s ol (h Lae JS il €3) (A lS ) Sl i Bl il 0 AR e (I
A5 el dla gl - i) - el Sl - D seadl. eyl -
(Gl ) didiaad) damal - 031l plaall - 2 0 348 p e 2,8 (o
il il delia L8 Laastudl ALED <yl ERENIPE vl PR I <

=l gt
Sl Belasll g ¢ %24 Al il 1l jal) 43eliS S 138 G/ J 900 de s L5 el o o aa (
Aaiilly ¢ 70 540 il Jshg ¢ ae 400 Leia JS B8 ¢ 8 4l shul de g el / aaS 1150 358 Al 5 %85
Pestl) Jass gill Jarall Cansal | anS/ 528 42000 paduaall 358 501 4y ) yaly
SIS 13 300 watt s 5% Jl s 531 4 8 )53 gall i Canaa (<
rc=20cm

rg=4.5cm
Na = 3600 rpm

Nc =78 rpm

¢ Al eall Aol G ad

Q}gmn‘L_H,uumjmJ,MunJ;;‘yadpnq)hhwabs;ax@mmwmnOAQ)JS,&L‘.,(G
nuyg-.bsgm‘ﬂ;gtsvsgqumm,nmaﬂjwzﬂnﬂi,1uj|soﬂwm,a.n);sgngwl)m
é“Si;S(l da.bi Scm 4dlia M]ﬂﬂg@cbﬂ‘aiﬁ QS}E@‘&SLM‘L@[&J‘}‘ 450kg bJﬁL}Aﬁ._I

GSHA Maal) ae o gl Ja S Gl rladtly clial) b s




Tanta

Department: Civil Engineering
University

Faculty of
Total Marks: 90 Marks

Engineering

Course Title: Plane Surveying (B)
Date: June 13t 2019 (Second term)

Course Code: 1201
Allowed time: 3 hrg

Year; 15t
No. of Pages: (2)

322 Y8) Js¥1 Jigeds
(Y~=djbgjjfgf&lg_g‘}&.}bwjll(scgf)ubﬂ/!hhj—f
ymmlului;%mguww(ar&,bcygb
Veg ST e s ey T A e,
VA, o Jle& zo=uybr1.=;i¢%>;cwlului;c,_z;f
oj}L/,z r;fc__uuu,a)%u_ﬁ.z o@;cgcyauldﬁ,‘;%fup“ﬁ;
V¢, 0 AoV oY a8 Oy sy (o fy sl e o E (p)
Ly o (daryd VO) L 3y Jaali oty J,L;Lglj(‘.__;r) el s llalls

‘ ~ [

é c(t\~=4&L.bJ)Jajé>LCaYIL_5)LM;..Cg__Jl‘C_._l.’:lliJl‘c._..Lpliﬁl—y
\/

Coladlly ol 4,y > el 1S oL, Ml |,

(202 Sl i, el = S, T—os 5n LaS a sy,

z ‘ o (Sl A vy s S sl bz s
| (2 Yoy gt Jiguy
A e e sy s el s i Llyg s -

ol & Loy, % S e Lty ) TSl LY OIS s 1 o — us

(Sl oy pllit o e, B Y gl Job bl oda Lo 21,0, iy

- 3

Lz S Lef I e 5y0uly DNV byl s g, e i elinf oty gl S Gn
L] oo S s S8 jal e o il els of cale 134 Cartll 4l oy, oy Juag
sl vy o S dplly ks e it St v sl e S5
ey ikl Sl ey UL (e Can el They Tnelall oy clhed Lok plas
(3 1 0) puhli Lo Pl e o Ll oy Ly 25Ul

uzjyfwtnjauulul_g( Vo Jhsﬁﬁ_‘ly.ias.uu'pj;q L})LQJ.LJ};L_;L;@‘LM@J»I:Q




(Fryd Yoy &Edu JIdt

+ O VA Y b 4,0 e (CJJA,CyT)a,wlfu;mywyggqﬁf
" OB (ol LS,V Tmdall o 81 (ol ot

Ve, Lt Bt Bsh A ) OL—;lL}g—i;l‘(_,AJCC)'));}_QLU;L.&J¥1cL~

sl ozl Dy b iy ) R :\JMJDrJlk—HJﬂU@'c}J:&;vPJW‘
< SR Fnt Jil oyt o413 s (2 2 0y oty |
A,V e LRI LY Sl Oy ¥ 1 4 g Jaul ) all ol 3 gy vt
v,y A TV £ ol () Lhad ds sVl e oy |
1 Aeralall 2, U1 Ry I 3y ikl s ]

Loy | copllall LYl e |

(%ryd Y o) C"J'“ JIgadt
(CJL")Q 5) O \ l-@-?“) uvL:.E-A k"éj‘j (NA31"A1a) a-b._{}b lb-_éu Qb—in ‘HD {...w)‘ '-“
S e (o fy o)l akes —
e Vo Sy gyl e e VP Loy TEA/AYY Do A g a () 2l
@A s e
WA 03 Yo sy sl A gyl S e i () e
(z <N 2V dakas 2l —
) e Jly (7 o f) Sl Sl g PN ki g a8 ) Dy LS Gy LIl ks, 4 o5 =Y

(33 Y8y o, 0y

G35l Wlead wa

Page 2/2




